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Wounds: 14
Move:

‘The Warrior is now at -1 Toughness and -1
Weapon Skill until they either break free with a
successful break from pinned test or until the
Crocodile is slain.

:
&

2

§
G
=
N
w
IS
[0
o)
~
®
©
=

IS
[0
o)
~
®
©
=
o

slw[NOUWWO

: Crab makes a succes: L e
, the Warrior is caught in the Cral
powerful claws.

‘The Warrior is now at -1 Weapon Skill until they
either break free with a successful
break from pinned test, or

until the Crab is slain.
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Wounds:
Move:
Weapon Skill:
Strength:
Toughness:
Attacks:
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To Hit Foe 2|3

'S with a Strength of 1D6+4.

If the Gorilla is not in melee combat it will pick
up objects and throw them at the Warriors.

Objects thrown are as follows:

Range : 4
To Hit : 5+
Strength : 1D6+3




